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‘Geometry: Please clear your desk except for...

|
!1. Assignments up o #35 ALt '\ J
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2. SNB - Read over p. 152 in the textbook. W

b
- Define: Median and Altitude. !
| How many Medians and Altitudes does each triangle have?
| Which of these two segments must be inside the triangle?
(Draw examples to justify your answer!)
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Intro to Section 4.7
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Equidistant from two points:

Distance from a point to a line:

Equidistant from two lines:
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How many points are equidistant from two points? |
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This leads us to two Theorems:
1. If apoint lies on the perpendicular bisector of a segment,
then the point is equidistant from the endpoints of the segment.

2. If apoint is equidistant from the endpoints of a segment,
then the points lies on the perpendicular bisector of the segment.
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If a point lies on the perpendicular bisector of a segment, then
the point is equidistant from the endpoints of the segment.

Given: CP is the L bisector of 48 7

N
Prove: CA=(CB Aﬁ“f‘ﬁa

Statements Reasons
1 CP isthe L bisector of 4R Given
20l dd L AR, TP L AR | Def. of L bisector
3 Cp=co Refl. Prop. of =
4 x® T pn Def. of midpoint
5 sl1= /2 1 lines form = adj. £s
6 AAPCTARPC- SAS = Post.
7 AT o CPCTC
8 CA=CB DL A T 5.
Given: CA = CB c

Prove: Cis on the L bisector of A 4‘:&:&
A B

Key Idea: Draw an auxiliary line (‘C'_P). P

Triangles are Congruent by:

Option 1: CP s an a“-‘*lwk L AAR 714-!_ = TL.-N\
L L postulde 3 N 4

Option 2: (Pisd L.'-;ch. &P/ﬁ(& SAS = Qo5
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If a point is equidistant from the endpoints of a segment, then

the points lies on the perpendicular bisector of the segment.
c

Given: CA = CB
1
]
Prove: Cis on the L bisector of 48 m
A A B

Pis 4l wudpl A AR Dl A4 meelpt
Cisonthe L bisectorof 48 | D 2 L bisecd

Statements Reasons f’
1 CA=CB Given
2 Draw(CP 4 AG L Pest
3 Te=<p Rfl. Pp-£ =
4 Ao Def. ot = Seq
5 AApTABCP YL = Then
6 AP=TP CbPcT
7
8
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Perpendicular Bisector Theorem:

A point lies on the perpendicular bisector of a segment if and only
if the point is equidistant from the endpoints of the segment.
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